3'3-7

TA4RII3Y

i
.- »
NIE-REfRIE |,
B A Beg S NATTeRE nEfgeEE 5| e [,ﬁ)ﬁ), ,;sl‘ZS 74 EF LUK%BE N F—771LY5%— BEEESE
wENEE ?‘—1*' 707 -—ﬁ— THEeER FIA & UOFEFezls 4o 58 004700 b e RE 874 74 2-THTI— Bk HRBASH x
BE.FOREVER YAMATO (Bt |




hV F+<QEREP{ VW
Bk~ | ) | S T
BUMS DK< VHEN.

HEFIDRNRNSESHRON SR L
WHRRROPIIN. TS BEEEN L |
JEER S0 | B LN UBHHIHR R
ﬂ\%@ﬁ%@HCWBNE@ﬁC@ﬁ%W
R L6, 10°

RY BREWHOUDOV NOSEKED
0O E—=2UKRA LIRS —

Kt JBr INHBDLUNRD DA LIND 1
fE L HEH o

HEEIED || 1O 1 BHRSIK O REY
07 ISNQMRKEE” HIBEIMBEEMR OBV )
16 S IIGHIT | OISR (OIERM B R
SR N NV DN Q- LRH B < 2ERS
NLNVIVL BHRIOBESESIHRW VW
VUMYV SEDBRONDDIENOCH D
t610\°

IR 1 <ITQRBRINN D WK

e

\b ‘

&

.;j@g

AAoay

.‘}

RROFmAHK

Ao
>
4~

>

S H< IV ESER0 ING
B SRR D Y21 0 100° QBRI IS
QLI KHEQRHEUBEE) FERMSM

O—FRWEER DO CH 000 Q1
rJSRKPEOERWENSTRN L IR
£05° NSRD L ToRSHIM K IAKIRHE B
- RIUKCHS O (IR IB0” ROM
S LHEINRIEOMD” S LUK
RRHORDINN)ISNE" HIBEMBHEESY)
OB TN -+
LINDBTINTIN L4 LA SIIie” | i
[ eH®ED” VOV IIORBOND S
INX LU LXAXNHRY) 8INSNIRER
LIRQ [P ) LV BRIWESM TonG®
LHEH M
L)
FhLBundes

PO Sm B SIS | 1<
HBES SN O UECEC).-.... ° W
B¢ INBE SPOIRON. RENVUOENEL
MOt BEW <0 NENWVESBE TSP
PRRRODSINYT 2RISR #r JTOHK D
SOBeEh—NTR BN e —D N

QRKNI&)” S NI )

O a2 '
SRR EEHBSKOND N\WVO
i\ VeV

HRBHRN.

| M~ (YN
Ulo—/ a :J/:Jﬁ ~/ :/3 g/-c._.l-m/.

N A ZRTIAR I i P i N
P L8R s S 7 VSR

\ A k() [ RPN\ U= | 4 e n 1O
AL P 0RO 10 e MUcﬁt/ﬂvﬂx\(V Sty
, ” ANNTNUSONKIA

S RHEEORY b

IS B L1t @
SISV P
DRSS 670D
—NWED Y BeD
— RN
MO 6 IBRGRRL I
BB OD
0% BRIPHEOE
1° VO RAHBRRSHT
R— L DDINEf DI
RSN 0
B F | Y sEm R
R | SEMEC AR | IOSNOY Pots
QD SEHERIVIP N UL O I KIRB) 47
IR NS H S0 UNIED! KSME 4
il £ YROIGD—ORNDOT W
OF ROSARRERHED WD

L

PODDOPNRUORSRS®

BE FOREVER YAMATO

—=l Lra—

(I EXRAE—FO

(351) 3061 (407) 7019 (407) 7229 (971) 2727 (831) 6620 (841) 8722
FR1100M DAL)

=
R % 7 7
S8 1 RIS E 2% 1000

8A2

SEMTF &L,

AOAF/ X5 X
(535) 4747

H [ 8:00] 10:40] | :20] 4:00] 6:40]

[ ®ezEEnH»%A [ 9 :00] 11:40] 2:20] 5:00] ~—_ |

® 9O B LI —RB_LARASAN (C WA H/ Y T DOT

[(=

Fxd /

13009 + A%#:1200 - ks

)

54—

(



